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e Page 8, (1.3):
Ve e K — rek

e Page 17, proof of Fact 1.3.15:
AeB = A2BA/? —  AeB=tr(A/2BA?)

e Page 23, proof of Fact 1.4.6:
From (1.18) and the equality in (1.20), we obtain
zo = [z, so = [|s1]- (1.21)
The equality in (1.19) holds if and only if either

] = 0;
— (1.22)
x1 #£0,8 #0,and 1 = —asy (a>0)

is satisfied.!® Thus we see that (a) holds if and only if (1.21) and (1.22) are

satisfied. but the latter condition is equivalent to (c).

0

The equality in (1.19) holds if and only if either

] = 0;
s1 =0; (1.21)
x1 #0, 8 #0,and x; = —as; (a>0)

is satisfied.'® With reference to (1.18) and the equality in (1.20), we obtain zg = 0

if £; = 0 and sp = 0 if s; = 0. Furthermore, in the final case of (1.21) we obtain
zo = @1, so = [s1]- (1.21)

From this observation we conclude that (a) is equivalent to (c).



e Page 54, the 1st line of section 2.2.4:

“We here establish the optimality conditions for (P) and (P*).

closed proper convex function.”

e Page 59, Definition 2.2.13:
L:VxY"—RU{+o0}

e Page 62, eq. (2.44):

b(x; A\, v) =

b(x; A\, v) =

e Page 62, eq. (2.45):

e Page 107, Figure 4.4(a):

ke ceA

e Page 257, (9.6):

m k
fol®)+ D Ngj(@) + Y vih(x)
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fo®)+ DN fi(@) + > vihi(e)
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L:VxY —RU{—o0}

We assume that @ is a

if fj(x)+2; <0 (j=1,...,m),
hl(x)—}—ul =0 (lZl,...,k),
otherwise,
+
if fi(z)+ X <0 (j=1,...,m),
hl(.r)—{—ylzo (lZl,...,k‘),
otherwise,
if A* >0,
otherwise.
4
it A* >0,
otherwise.
A

_>
wi(ew) , wa(ew) >0,
wl(sw) > 0, LUQ(EW) = 0,
wl(sw) = 0, WQ(EW) =0

kece

(9.6a)
(9.6b)
(9.6¢)



AM(o) >0, X(o)>0, (9.6a)
Ai(o) >0, Xo(o) =0, (9.6b)
A(o) =0, X(o)=0 (9.6¢)
e Page 277, (9.72):
(z*, A) — (z*, Ax)
e Page 313, 2 lines below (10.3b):
(T, Tt) — r = (r¢, )
e Page 327, (10.35):
Aug >0 = r <0,
Aug <0 = Iy >
1
Aug >0 = 7 <0,
Ay <0 = r>0
e Page 340, 6 lines below (10.81):
0<afe-g.y-9) +’ly- 7>
1
0 < 20(z — 5.y —9) +o’[ly — g[*.
e Page 358, footnote 5:
_ _ 1 (e 1 V2 o oL o]V
f(o) =||dev(o)|| = [(o — 3tx(o)) : (6 —3tr(0))] " =[0:0-3(T:0)%]"",
1
1/2 1/2
— 1tr(ol))] /2= 00— 3(I: o)? /

f(o) = dev(o)| = [(o - %tr(a’I)) (o —3



